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Figure S1 Simulation results for HC-1060 fiber filled with toluene at 1060 nm (left), and
simulation results for HC-1060 fiber filled with toluene at 1550 nm (right), illustrating the

ability to transmit various wavelengths when the liquid refractive index is high.



Methyl viologen I-2959 water 630 fibre with reservoir 3:05 PM June 1, 2007

Filename MY 12959 9 Badshots ' 1 Order and Type First Order Decay
Mon. Wavelength 630 Exposures 11 Window 126 60
Laser wavelength 308 nm Top OD 0.36487 Points -66
Bandwidth 20 MHz End OD -0.0016 Lifetime [ns) 17571781.9
Shots 10 1/Top OD 2.741 Rate Constant (k) S.69E+1
Time-per-Point. ps 4.000E+2 10 (1=considered) 1 Correlation 0.9955
Light (I zero) 15.0 Baseline Corrected [ 1000/T 0.336
Temperature 2978.0 Fluorescence Corrected . Ink 4.041
10 mY 25 ms Transmission TDS 2012 SDV k 7.0325E-1
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Figure S2: Representative screen capture from the Luzchem LFP software. The sample
contains methyl viologen and 1-2959 dissolved in water and the species monitored is the
radical cation from methyl viologen. The time units in the main graph are microseconds
and the blue fit corresponds to a monoexponential decay. The corresponding semilog
plot is the small upper graph and the bottom right corner shows the distribution of
residuals. The temperature reading is meaningless in this case because the probe that is

part of the LFP system cannot be connected to the fiber.



